Annown comenie /Assigamercts
« READ THE SYLLABUS (it's now posted o Mtdw'l'ﬂ)

p gnu,J,M 1,\;.,.3, on  MyWPl — complete "’5 Friday U89 pom.

c HW | posted , due Momla.j (22 May ) 1:s9 pm. — upload
4o MjW'P\ ?Lal.

- W | posted, dme Fridoy (19 Maw) 1S9 pm. — see syllabus
for Lnle WelWor - P"'ﬂ"

Todour s ¢ pdiderivatives (4.3)
- Area [Fimte Sums (s.1)
e Sdgma wotctrvow /HMH’S a{i Emte Sums (5.2)

. 'Dof—'m:'d'c. 'ud‘f.jnuls (5.3) —J«{l +me PW-{-S



43 A’h‘l’id-&r'\vuﬁﬂi.

Z
From Cale T, we know how +o differentiote a Pfunchon — but |
some ?wblum& "'—TW‘N +he "I'hv-f.xs-t“ —i.e, wt kmow the "l”'i'“‘-""""{/ |
but waent o recover the Sfumchon. (E'S') we kwow nloci'l-y,d-w( |
want o recover thae positiowm). |
DEF.

A Ffunction F is an onmbiderivahne of .P. on an
intervel T if

, for all w XL, Flin) = .@l.'u-).

———

5 \ W t of
EXMM:‘CS. . {;(,,)-.:: 29 , I'F R (_11 ¢ the €

all r_E'_A_\ WWML“‘)

Fae) = e om Mh‘du'wul-\‘w 4— + m L
Check Flew) = i

* Q.L-w) ‘= oS (w) , Ti= .

Fled = g an et derivatine of- -@ oo L .

heck
® %-{u) :-__-: ax 5 I = rR ®

Fla)= (o an aphaonvcnwe g oo I

1] ® [ N L1}
RQuwestion . wkb o a\,w(—;ol-cﬁwd-\'v'e“} ot +he anbderivative ?

ey

LY L “
¥ UNIGQUENESS x o VoY lmpor’rud' oomqrf e macth S
A vakives oxe not Mv{g_vu-; £.9. 1
o s et mw: e ()
E('ﬂ-): * + | ) cm“)= x + 317, g T '



43 .44 o N

| THEOREM IF F Jo am anhiderivabive of £ on an interval I}I
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